Cantilever racking instruction

1800 COLUMN HEIGHT mm
1700 =

1600 — 2000

1500 - 2500

1400 3000

1300 -

4300 ARM LOADING
o = LENGTH [ CAPACITY
1000 500mm 220kgs
%00 | — : - =EE=EE=E 600mm 185kgs
o — 1 : T — 700mm 160kgs

Ref Description Qty
Components per column
1 column

single base profile 600mm
with M16 bolt, nut 2 washers

AN
Vi g g o o o o

double base profile 600mm
with M16 bolt, nut, 2 washers

AN

w

front plate for base
Base floor fixing bracket
MlO X 25 nut & bOIt (bracing bracket)

~ 01

Components per bracing set
Column X brace bracket
Horizontal brace 970mm
Diagonal brace 1456mm

0 M8 x 20 socket screw & nut

= O 00 o

Components per arm
11 Arm (500, 600, 700 & 800mm)
12 Arm/column locating pin
13 Arm plastic end plug
14 Arm end stop
15 M8 plate and M8 socket screw
16 End stop for base
17 M10 x 25 bolt and nut



